—B2 (BEALYY| FYLiv |wLosia| hEES 5.4 T | BaES f = (ESS [[=Rivd
1 —&E O5-3 0O9-6
2| EENLYY O7-0 09-2
3 Kosdv @07 O7-0
4| o402)—| @3-5 O4-1
5 hEEE @07 @®0-29
6 T Ay O7-0 O7-0
7| EvrXett | @6-9 @14
8| EHEMhTE ®2-9 029-0
9| BARERAEE @07 @07
3/13hE-Hh T &% RE/ANLYY
3/20/\Lyy-thE hEEE IERLIRTE /%
4/10/\Ly*y-H#o T 8% BRI T 8% 2 OB AN ZNF—L (BFI2E591 mEREk0 =)
I (FEHIF-TDBATAGET 5]
3/2181B-5- AV Ny DI 3 N2 QL AMTATEISE)EAREQR K EQREBADIET
4/38A-RH S S A oy B ITOVY L1 F— LD R, —F AN ELE TS
o2 L0 A5 OEFEF BEXRESHRULYTEMERERE
3/13€ vkt Tq —&E2 9 N E
321—BE2-Evhk wILTOqal)— | s
4/10—&E-t)L I« tyrX o4t 5/8 14: |o
30
y;x—B |10
J)591)=vy

2022 &




